Lambda b polarization

e Particles similar to proton in structure with one

A_ u quark replaced with a beauty (b) quark (udb)
b e B quarks come from Z decay

e Decays via weak force to lambda 0 (uds) and
dilepton:
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e Since this is a weak force interaction, the spin of the lambda b matters
e Helicity = component of spin in direction of momentum
e Polarization of Lb comes from polarization of Z boson
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A rest frame
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Example plots:
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Detector effects d°r
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.. Need to fit the angles to a pdf:
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Efficiencies

y = (-0.26 = 0.01)x"~2 + (0.07 = 0.01)x + 3.17 = 0.05

5: x? = 112.29384070480033
df = 47

p = 0.00000




2D plots
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